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This question paper consists of 36 questions and 14 printed pages including 2 figures + 1 page of Graph.
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General Instructions :
1 Candidate must write his/her Roll Number on the first page of the question paper.

2 Please check the question paper to verify that the total pages and total number of questions
contained in the question paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
answer-book given to you.

4 All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

5 Making any identification mark in the answer-book or writing roll number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your question paper code No. 44/AS/3—A on the answer-book.
(a) The question paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box
provided in the answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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MATHEMATICS
(7o)
@211)
Time : 3 Hours] [Maximum Marks : 100
qeg ¢ 3 g ] [quif : 100
Note : (1)  Question Numbers (1-16) are Multiple Choice Questions. Each question carries
one mark. For each question, four alternative choices are given, of which
only one is correct. You have to select the correct alternative and indicate
it in the answer-book by writing (A), (B), (C) or (D) as the case may be.
(2) Question Numbers (17-26) carry 3 marks each.
(3) Question Numbers (27-34) carry 5 marks each.
(4) Question Numbers 35 and 36 are of 7 marks each.
(5) All questions are compulsory.
o ¢ (1) usT ¥ewm (1-16) 9@ Efaewedl 97 (Multiple Choice Questions) ¥ | 3H
Y Ud® UsT UH 3 W T | UA® WA % WX Jhieush SR ¥ T E,
9 ¥ %ad TH 9 & | el @& fasew g ¥ SR (A), (B), (C) rEn
(D) S Al ITX ¥, IW IaC YRae H faen wwm o
(2) WS GE (17-26) ¥ € WA® 3 3iht b1 |
(3) WST "Em (27-34) § € UA® 5 3iHt w1 ¥ |
(4) WT T 35 9UT 36 YR 7 ol @ ¥ )
(5) | gyA ettt ¥
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9
1 The reciprocal of (——j is : 1

4\
(_Ej @ gohd §
4 9 5 9
(A) (gj B) (Zj
4\~ 4\~
o (9 o ()

The rationalising factor of 2/gpQ is : 1

3fgo0 W URHH@EN U T

(A) 35 B) 325
©) RN25 D) 3250
2
If (x-2) is one factor of the polynomials x +ax—6 and x2—9x+b, then 1

a+b 1s equal to :

AR (x-2) TEEN x°+ax—6 T x° —Ox+b F TH OGS ¥, @ a+b @ AN
WER ¥ ¢

(A) 15 B) 13
©) 11 (D) 10
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4 The roots of the equation ax® +bx+c=0 will be reciprocal of each other if : 1

TETT ax” +bx+c=0 % A wH @Y % gobd W, AR

(A) a=5»
B) a = bc
€ a=c
D) b=c
5 The ratio of 35 minutes to 45 seconds, in simplest form is : 1

35 e @1 45 Y= ¥ WeeH ®O H gUW §
(A) 35 : 45

B) 7:9

(C) 2100 : 45

(D) 140 : 3

6 A shirt costing Rs. 400, marked at Rs. 600 was sold at a discount of 10%. 1

The gain percent in the transaction is :

400 . ®T T B TH FAS WX Sifed g 600 T. frm @ 3@ 10% & w2
W I ¥ " § AW % T &gl

(A) 20%
(B) 25%
(C) 30%

(D) 35%
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7 In a plane, the point equidistant from the vertices of a triangle is called its : 1
Bys & dFf il &, S 9@ W, wnque T4y, wee §
(A) Centroid (%=®) (B) Incentre (3fd: &=)
(C) Circumcentre (4f{eh=) (D) Orthocentre (V¥ &)
8 In given figure, the area of || gm ABCD is 60 cm?. If EF = 12 cm, then the 1
altitude of ADCE (in cm) is :
A TS AP W, FAAT IgYS ABCD @ &F%d 60 I W ¥ Afe EF = 12
€ @ ADCE @ =g & (| #) :
A ED F
B
(A) 5 (B) 10
C) 12 (D) 60
9 ABCD is a trapezium in which AB||CD. P and Q are the mid points of 1
AD and BC respectively. If AB = 8 cm, and PQ = 6 cm then CD (in cm) is
equal to :
ABCD U% @v@d & &9 AB|CD 31 P q&n Q %Wt y=isil AD d&@ BC & A
fgg %1 afs AB = 8 o @ PQ = 6 ¥ ¥ & CD & was @ #) ¥
(A) 14 B) 7
© 4 D) 2
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10 O is the centre of circle in the given figure, and LBDC:420, then Z/ACB is 1
equal to :

A T AR A, O 99 & H=  au ,BDC=42° ¥, A LACB TR ¥ ¢

D C
42°
QO
A B
(A) 420 (B) 48°
(C) 450 (D) 60°
11 A line which intersects a circle in two points is called : 1

Th WA @, S TH g B & §gel W Hedl ¥, wEAwl @ o

(A) Secant (®gw) (B) Chord (Sfram)
(C) Tangent (st @) (D) Diameter (&)
12 If the ratio of areas of two circles is 16 : 25, the ratio of their circumference is : 1

A gAl b AFwAl W 16 : 25 H SNIUN §, A ITbI U] B SIUC ¥

(A) 4:5 B) 5:4
© 3:5 (D) 25:16
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13 A sphere and a cube are of same height, the ratio of their volumes is :
22
T=—
7
. o 22
Th M S BT B GEE U ¥ T AT § U v o | T
(A) 3:4 B) 21 : 11
(C) 4:3 D) 11 : 21
14 If cosoc—l d tan[S—L th i i |l to :
5 an 75 then sin(ot+P) is equal to :
1 1
afy coso=_ ok tanﬁzﬁ ?, @ sin(o+p) FM AN TEX T
1,1 1.1
AN ® 275
© o0 D) 1
15 If the mean of a distribution is 20 and each item is increased by 2, the new
mean will be :
forel de &1 Aew 20 ¥ ol US UEOT B 2 § o1 (&A1 WY, qI FAT WIS B0
(A) 40 B) 10
(C) 22 (D) 20
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16 A card is selected from a deck of 52 cards. The probability of its being a red 1
face card is :
52 Ul W TN W TES] H ¥ UH G (wE@ T W T b AW T B a@R
I T b BN B AR §
N = B) -
(&) ¢ B) 3
C 2 D 1
© = ©)
2 7 3
17 Multiply 3x =5x+— by x——. 3
x x
352 5+l @ x—2 @ R
. . e |
18 Simplify by reducing rational expressions to their lowest form : 3
e =iol &1 396 Ao 'Y § e Bl dXd iy
6x" —7x=5 9x’ —12x-5
84+2x—x"  4+11x—3x
19 The sum of the first three terms of an AP is 33. If the product of the first and 3
the third term exceeds the second term by 29, find the AP.
T GHIET IO %k YR oM Ual ®1 AM 33 ¥ AR UsW ofiR dEY UE @1 U,
T TR Y 29 HAHe ¥, A WA SO0 W ST |
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20 By selling 24 oranges for Rs. 96, a person loses 20%. How many oranges 3
should he sell for Rs. 150 to gain 20% on the whole ?

24 "X 96 . % SUHT Th AR bl 20% BN Bl &1 38 150 &, & fohaw day
Jo dIfeq HE 3§ g9l ®F ¥ 20% w1 @TH B 7

21 The price of a scooter depreciates at the rate of 20% per annum of its value 3
at the beginning of each year. If the cost of scooter is Rs. 31250, what will be
its value at the end of three years ?

% WX B Yed U 99 IH A¥ b YW & I bl 20% HA B W 8|
e WX B qAIE qed 31250 T %, A 3 qY % AW H Ul Ied T
Y |

22  Find the HCF and LCM of the following two polynomials : 3

T g T @ wgwer @ W @ (HCF) @1 @ 8 (LCM) 3| &g ¢

f(x)=(2x+1)* (4x=3)* (x—2) 1 g (x) = (2x +1) (4x—3)"

23  Find the coordinates of the centroid of the triangle whose vertices are A (5, —1), 3
B (-3, -2) and C (-1, 8). Also find the length of the median AD.

us e, e ofet & Fdsie A (5, 1), B (-3, —2) @21 C (-1, 8) &, & &=
% fdotis o ®INTY| ST@ AT AD &l waE W 3w

24 A path 3 meters wide runs around a circular park on the outside whose radius 3
is 9 meters. Find the area of the path.

9 HeX BT 9 U% g Uik % S18K U 3 HIEX Grel U0 %1 36 UK B
AIHE T BT |
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In a right angled triangle ABC right angled at B, sin4=—— find the value of 3

B
2

(sinzA + coszC) - sinzC . coszA .

wh g Bgs ABC, s «B wEe W ¥, W sinAz? g,

Gl (sinzA+cos2C)—sin2C-cos2A chl HE Hd EﬁlﬁQI

Evaluate : 3

qﬁ?lﬁﬂ%lﬁQi

cos2 (45O + 9)+ cos2 (45O — 6)
cOS 43O

2
. 470
+ = - 2cos2 45°
tan (60O + 9) tan (30O — 9)

Find graphically the vertices of a triangle whose sides have the equations 5
2y—-x=85y—x=14 and y-2x=1.

A & TEEAl § UHh S % oV T HING, SEie SHml S il
2y-x=85y-x=14 qu y-2x=1 & T &a )

OR / s¥an

(For Visually Impaired Candidates only)
(Fhawt Efe faam faantai & fom)

For what values of £ will the following pair of linear equations have infinitely
many solutions ?

k% fog o=l % fag, e @l g™ % ofFa & &7
kx+3y—(k-3)=0,12x+ky—k =0
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28 A two digit number is such that the product of the digits is 12. When 9 is 5
added to the number, the digits interchange their places. Determine the number.

H I S W e & Sd W ONwA 12 ¥ Al g'n ¥ 9 S iy =,
WA ol H W TES WA E| T S bl |

29 In an equilateral triangle ABC, D is a point on the side BC such that 5

BDzé BC. Prove that 9AD® = 7ARZ.

@W@%rg@rABcvﬁrgchwwﬁngw%ﬁsBD% BC

¥ fg AT 5 9AD? = 7AB>.

30 Construct a parallelogram ABCD when diagonals, AC = 8 ¢cm and BD = 6 cm, §
and the angle between them is 60°.

T A I9ggst ABCD & w1 @ifvy, fee fawel AC = 8 &l e
BD = 6 99 ¥ q1 Seh &/ 60° ® B )

OR / s¥an

(For Visually Impaired Candidates only)

(Faq e fawam i ¥ fow)

Write the steps of construction to construct a quadrilateral ABCD in which

AB =5 cm, BC = 42 cm, ZB=60", 2C=90° and /A =75°.

% agyds ABCD, f@d AB = 5 &, BC = 4.2 &I, qa1 Z/B=60", ZC=90°

T £A=75° %, @ T wE % fMg @ o e fwfaw)
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31 A field is 150 m long and 100 m broad; and a tank 32 m long, 25 m broad and 5
10 meter deep is dug in the field, and the earth taken out of it is spread evenly
over the remaining part of the field How much is the level of field raised ?
U®% Ta 150 H @1 qgr 100 WoWET ¥ 39e o=} 32 |l @, 25 |l dr aen
10 H U TH <& WE T g, qu SEH § Feal el W F 9w vm W
Th X feBE T ¥ wd @ e ¥ fean e g 7
32 From the top of a 7 m high building, the angle of elevation of the top 5
of a cable tower is 60° and the angle of depression of its foot is 45°.
Determine the height of the tower.
7H FY HaT % NET ¥ @ HEd @Y & R @ IET B 600 TSR
THF UG &1 SIEATAT HIOT 450 F| TEX H HOE T BT
33 Find the mean of the following grouped data by shortcut method : 5
fr e sffesl @1 wer @gfafy g0 9@ Sy
Classes :
() 20-40 | 40-60 | 60—-80 | 80—-100 | 100—-120 | 120—-140 | 140-160
Frequencies :
. 3 6 9 12 9 6 5
(graman)
34 From a well shuffled pack of cards, a card is drawn at random, find the 5
probability of occurrence of a
(1) black card
(i) red queen
(iii) a jack
HE TE W Bl M5 A B ES] H § AGHAT Th Tl e T
e & o @ wiReear S Sig
() UH HW T B UA
(i) UH W@ T™
(ii) Tk TaAH
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35 A T.V. set is available for Rs. 35000 cash or for Rs. 7000 cash down payment 7
and 6 equal monthly instalments of Rs. 5000 each. Calculate the rate of interest
charged under the instalment plan.

T SIS ¥ 35000 B, Teha Hed b S AT 7000 T, I A R ThiHAE
5000 & W W GHM [l % ofdid SUwed ¥ TR A & ofald gam

fpn T == W W B TOFT AT

36 Prove that the sum of the opposite angles of a cyclic quadrilateral is 180°. 7

fog ife T we @ 9gds & @@ ®OT @ AT 180° FAT ¥
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SPACE FOR ROUGH WORK / &= &M & o3 sTTe
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SPACE FOR ROUGH WORK / &= &M & o3 sTTe
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